Q.P.Code: 17394

For Internal Students - (2 Hours 15 minutes) [ Total Marks : 75

For External Students (3 Hours) [ Total Marks : 100

N.B.: (1) External students should attempt any four questions.
(2) Internal students should attempt any three questions from Q Nos. 1 to
6. Do not attempt Q. Nos. 7 and 8. ‘
(3) All questions carry equal marks.
Briefly discuss the impact of industry on family, kinship, caste and community.
Examine the problems of industrial labour in India.
Explain the changing features of formal organization.
Outline the relationship between work and technology.
Critically examine industrial relations and the changing role of the state in India.
Write short notes on any two of the following :
(a) Labour commitment
(b) Gender and technology
(¢c) Caste and Labour Market
(d) Flexible specialization

Elaborate on the evolution and gfowth of trade unions in India.

Discuss the issues related to labour in the context of economic liberalization in
India.
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